RigZEEH

ég{ﬁ%%%%%%ﬁﬁ?*ﬁéﬁ B AR ESH b




2




2




2




2

1. 000

1. 000

1. 000

10

11

1. 000




1)

. 000

. 000

. 000

. 000

. 000

. 000

. 000




2

. 000

. 000

. 000

. 000

. 000

. 000

. 000

. 000

. 000

. 000

. 000

. 000

. 000




2

1. 000




1)

1. 000

1. 000

1. 000

1. 000




5)

1. 000

1. 000
1.000
,,,,, 2.000 19
,,,,, 1. 000 20
1.000
( ). @ 66, .50 2.000 5
( ). @ 66, .50 18. 000 6
2.000 10
18. 000 11
( ). 66, .50 6. 000 7
6. 000 12

1. 000




5)

( ), @ 66, .50 8. 000 8
( ), @ 66, .50 3. 000 9
116

11. 000
1. 000 1
1. 000 2
1. 000 3
1. 000 4
1. 000 5

1. 000

( )
2.0 1. 000 17
( )

2,0 1. 000 18




5)

1. 000

1. 000

1. 000

100km 100km

3. 000

22

1. 000

1. 000

1. 000

1. 000

16

1. 000

1. 000

2.000




5)

1. 000

1. 000

1. 000

1. 000

1. 000

1. 000

15°

30°

, 50

2.000

15

.50

1. 000

14

. 50m

0. 800

ton

13




5/

5)

1. 000

1. 000

1. 000

2.000

21




(

U 14

1. 000
:8.0 :0.0
:0.0 :
1) :0.0 :0.0
2)
1. 000
1. 000
:8.0 :0.0
:0.0 :
1) :0.0 :0.0
2)
1. 000

1. 000




(

2l 14)

:8.0 ;0.0
:0.0 .
1) :0.0 :0.0
2)
1. 000
4
1. 000
:8.0 :0.0
:0.0 .
1) :0.0 :0.0
2)
1. 000
5
1. 000
:8.0 :0.0
( ), © 66, , 50 :0.0 .
1) :0.0 :0.0

2)

© 66




(3 14

3)
5) 50

6)

50m
@ 66mM 1. 000

1. 000

1. 000

:8.0 :0.0
( ). © 66, .50 . :0.0 :

1 ( ) :0.0 :0.0
2) © 66

3)
5) 50

6)

50m
@ 66m 1. 000

1. 000




(

4

14)

1. 000

(

), ® 66,

.50

:8.0

:0.0

;0.0

1
2)

© 66

:0.0

:0.0

4)
5)

50

6)

@ 66nmm

1. 000

1. 000




(

5/

14)

1. 000

(

). @ 66,

.50

:8.0

:0.0

;0.0

1)
2)

© 66

:0.0

:0.0

3)
5)

50

6)

@ 66nmn

50m

1.150

1.000

1. 000

(

). @ 66,

.50

:8.0

:0.0

;0.0

1
2)

©® 66

:0.0

:0.0

4)
5)

50

6)




(

6/

14)

© 66nm 1. 150
1. 000
10
1. 000 [ 1
:8.0 :0.0
:0.0 .
1) :0.0 :0.0
2)
1. 000

1. 000 [

|




(

7/

14)

11
1.000 [ ]
:8.0 :0.0
:0.0 :
1) :0.0 :0.0
2)
1. 000
1.000 [ 1
12
1. 000 [ 1
:8.0 :0.0
:0.0 :
1) :0.0 :0.0
2)

1. 000

1.000 [

|




(8

14)

13
ton 1.000 ton
:8.0 ;0.0
,50m :0.0 :
1) :0.0 :0.0
2) 50m
1. 000 ton
0.294
1.000 ton
ton
14
1. 000
:8.0 ;0.0
.50 ;0.0 :




(

9

14)

1) :0.0 :0.0
2) 50
1. 000
1. 000
15
1. 000
:8.0 ;0.0
15° 30° .50 :0.0 :
1) :0.0 :0.0
2) 15° 30°
3) 50
15 30 1. 000
1. 000

16




(

10/

14)

1. 000
:8.0 ;0.0
:0.0 :
1) :0.0 :0.0
1. 000
1. 000
17
( 1. 000
( :8.0 :0.0
2.0 :0.0 :
1) :0.0 :0.0
2)
0. 840

1. 000




(

1y 14)

18

1. 000

2,0

:8.0

:0.0

:0.0

1
2)

;0.0

;0.0

0. 840

1. 000

19

1.000

:8.0

:0.0

:0.0

:0.0

:0.0

1. 000




( 12/ 14
20
1. 000
:8.0 :0.0
,,,,, :0.0 :
1) :0.0 :0.0
2)
3)
4)
5)
6)
1. 000
21
1. 000
:8.0 :0.0
:0.0 :
1) :0.0 :0.0




(

13/

14)

1. 000

1.000

22

1. 000

100km 100km

:8.0

:0.0

;0.0

1
2)

:0.0

:0.0

3)
4)

5)
6)

9)
10)

11)
12)

13)
14)

N Y
N = =

P~~~

15)
16)

17)

100km 100km

2. 600

1. 000




(14 14)




3)

1. 000

0. 200

0. 300

0. 500

1.800

1. 000

1. 000

0. 100

0. 200

0. 300

0. 060

1. 000




3)

1. 000

0. 300

0. 500

0. 400

0. 150

1.000

1. 000

0. 600

1. 200

1. 000




3/

3)

0. 800

0. 150

1. 000

1. 000

1. 000

1. 000

1. 000

0.700

0. 100

1. 000




